Transiarions

A TRANSLATION'IS d SLIDE!
The STZ8. ShdPe. diNd ORIBNEAHON StaY he SaMe.

AABC was translated 4 units righ’r
and 5 units down to form AAB'C.

write dRUle: (x,y)—(x+a,y+b)

The number added to "x” moves left or right.
The number added to "y” moves up or down.

(x, y)—(x + 4,y - 5)




REfIECTIiONS

A RRHLECHON'IS d £LIP)
The S1Z8 dNd ShdPe StaY he SAMe.

2 24 AABC was
/MA"K reflected
A over the
| \ y-axis
C/ '’ to form

AABC was < » SABC

reflected

over the
X-aXiS
to form
ADEF.

RUIES:
Reflect over y-oxis: (X, y) —=(-x, y)

Reflect over x-oxis: (X, y) —=(X, -y)

Reflect overy=x: (x,y) —=>(y, x)

Reflect overy = -x: (X, y) —*(-y, -x)




ROTATIONS

A ROLHON IS d TURN

The GZ8 dNd ShdPo, StAY {ho Same.
AY

USe RUleS! d0° 1I80°

(xl Y) N ’ ('xl 'Y)
A(-4,5) , Q, -5)
B(-4, 1) , R4, -1)

C(-2,1) , S(2, -1)




DildTIiONS

A DILHON IS d SERE4CH OR d ShRINK

The ShdPe StdYS 4he SAMe. but 4he §Z8 ChdnEes.
%%

AC-2, 2)
B(1, -2)
C(-2,-2)

A(-4, 4)
B'(-4, -4)
C'(2, -4)

AABC was dilated by a scale
factor of 2 to form AAB'C

write d Rule: (x, y)—(kx, ky)
Multiply each number by the scale factor, k.

Scale factor = 1 = Enlargement (bigger)
Scale factor < 1 = Reduction (smaller)




ANgie pairs

(allb)

O <

t (tronsversal)

Interior an?les
(Between the lines)

L < e

>

7/8

corresponding:

Congruent angles in the same
location, but on different lines.

“Same seat, different table”

Arrernate Interior:

Congruent interior angles on
opposite sides of the
transversal.

f

/

Same-=Side Interior:

Supplementary interior angles
on the same side of the
transversal.

f

> 6
[, a8

Supplementary = 180°

Alternate exterior:

Congruent exterior angles on
opposite sides of the
transversal.




Triangie sum
ThEeorem

The SUM 0% th@ 3 INBRIOR ANBLES
N d RIANELR 1S dLWYS 180°

- 65 + 90 + 25 =180° @

sometimes, Youw’ll need 1o solve an equation!

Write an equation fo Substitute x to find
find the value of x. each angle measure.

a+b+c=180°

2X +3x + bx-7=180
11x - 7=180

+/ +7

11x =187

11 11

x =17




EXTErior Angie
Theéorem

The BY1RRIOR dNBLe OF d +RIaNBLR IS BQUAL 40
the SUM Of h HWO OPPOSHE INHRRIOR dNELES

Ex’rerlor Opposite
angle inferior
/\/ angles

IFLI = 100° and 22 = 50°, then 23 = 150°

Find each MisSsing angdié measure:

Angle1l =70 + 60
60° 130°

Angle 2 =180 - 130
700 2 1 500

>
Straight line = 180°




ANngie-ANngie
ASimildrity

[ HA0 dNGLES OF 4 4R1ANGLe ake CONEGRUBNE
{0 the C(ORRESPONdNG dNELES Of dNOHER
{RIANGLE. 4hN +he HR1ANGLES dRe SIMILAR

‘fF ind Thé medasure of angie A.
(If its 35°, then the triangles are similar!)

a+ b +c =180° INn both As,
a+95+50=180 /A =35°
a + 145 =180 /B =95°

-145 -145 They are similar!
a =35




